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1(262).

bptip whuwybp mOGG Gebunch (30) ngfuwp;
Swup (10) YkOn-ykGn GG &GG|, wnwup (10)
Gncfun-Gnifun, nwub b hpbip-hpkp: 30h puw-
dwhdpd GO, whnp w towbu pwdwibb, np LW
qunObipp hwdwuwnp p6G, W ngfuwpGhb, pw)g
qunp dnphg swhwh whpwwih:

Tunnwufuwl. Swup Sncfun-Gnifun §lnn
ngfuwpbbphG dh Gnpnpl GG wwhu, YeGn-Y46Gn
§Gnn nghuwpbbipp L Gpbip-Gptip &Gnn 5-whwh
Yhuntd GG Gyniu Gipyne Bnpuyplbiph dheld:

2(263).

Ubnwih Jpw Gihwd dtp Yuwh: UGS Gnpuy-
np dnbnud w, papnp ddbph Yhup L Yeu dne ne-
uinud, qlnud: Gpypnpn Gnpwypl w quihu,
GGwgwéd dytph Yhup L Yhu dne nuinned, qlnud:
tippnpn npwypt w quihu, d0wgwd dgtiph Yb-
up L Ybiu &ne nunncd, qGnud: 2nppnpn Gnpwyna
w quihu, dowgwé ddtph Yhup L Yeu dnu ne-
wncd, qlnud: UnwiGh Jpw £ nghbg sh dGnud:
Utinwa@hG pwGh® ant Yup npyws:

TMunnwufuwl. ConwikGp 15 dne:
Uk tnpwypp Ytipun] 15-h Yhup L Yhu dnd
7,5+0,5=8 anL:

294

Gpbpnpn. Gnpwypp Yhpwy dGwgwd 7 adh
Ytiup L Ytu éanu 3,5+0,5=4 anL:

Gppnpn Gnpwjpp Yepwy dGwgwéd 3 dup Ya-
up b Ybu dnt 1,540,6=2 dnu:

2nppnpn. Bnpwgpp Yepwy d0wgué 1 adh
Ytiup L Ytu &nu 0,5+0,5=1 dnL:

3(264).

Gnglpndp nzbp GO pGpd: Uh nniz nh w
wuwih.

- Upwi,- wupd w,- hwphp nniz, to w'ip bp
pjGpd:

Lhnbnhg wwnwufuwbpd w dEY6, wupd w.

- Utlip hwphpp sG0p, dkq nunob, dGYy Ep
kg nwnmb, d6p Yhuh nunomb, dkp pwenpnh
nwnnd, wnne b kg htiwn, Gnp hwphp YpGGp:

Lwlh’ul w tipgphGppdp:

Nunnwufuwl. 36 nniy:

w) YnyGwlhl — 72 aneg,

p) 36-h YGup 18 +72=90 nni

q) 36-h pwnnpnp 9+90=99 nni;

n) 99nnL2+1nni2 (hwpghnnp)=100 nnwz:

4(265). CNrSUUELNFY-LAbP

Onyh nu Yhup” Yuwwty ne Yyhku,
15 6ithp pwih” Yuwybl Yuwth:

Nunnwfuwl. 15 Ynwbl:



